H & 0l & AHS B Ml A

2023 =& 3 3 LugH &AM
2A: MRt
M NFENY S5(YSTHY/YHT)
e XA =2 (St &)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
[ 13,506,018 10,826,782 2,679,236
=2 90,974 90,974 0
Al 13,415,044 10,735,808 2,679,236
A= S5 (Lerassiy/Uersy) 723,8% 837,522 113,628
= 90,974 0,974 0
Al 632,920 746,548 A113,628
XMl &8 642,772 741,263 N98,491
= 90,974 0,974 0
Al 551,798 650,289 ~98,491
HIE 22 328,993 370,075 A41,082
101 QIAH| 25,504 26,504 1,000
04 JIHH 22 RS2 S 25,504 26,504 1,000
OXIHAIHIDA 2 LHIHYI 21,004 22,004 A1,000
oQI2iH| S 76,9602 x 1 %191 14,700 15,700 A 1,000
201 LetE Y| 191,690 224,100 A32,410
01 Al22t2|H| 53,100 59,000 5,900
OZMIXE, =AlE2 XA 2L
6,000,000 6,000 7,000 A 1,000
OFUAI(AIHAR) AN oHIE HIE
2,000,000 2,000 3,000 A1,000
OXIZA oHH ¥ EE2=2 M
5,000,000 5,000 6,000 A 1,000
OZRE L 2A| EH § 22 X
7,100,000 7,100 10,000 2,900
2 B229Y| 138,590 165,100 ~26,510
OXIZLA HIIZ2NANMN LERBZ (YY)
84,500,000 84,500 104,500 A20,000
OXYAl HII2DXAN LERHEZ(SI)
30,990,0002 30,990 37,500 16,510
202 04| 12,600 14,000 A1,400
01 22U 04t 12,600 14,000 A1,400
ONMgHE > 28 & SRS ol
9,000,000 9,000 10,000 A 1,000
o24 2R MA w= 3,600,000 3,600 4,000 A400
203 YR =] 2,700 3,000 A300
03 Al =R AR FAIY| 2,700 3,000 A300
o224, 22N d= gRFd
900,000 900 1,000 A100
OMgHE > JRFA 900,000& 900 1,000 A100
ONI2= Xgds RFA
900,000 900 1,000 A100
308 RIXISHHISOIE 64,697 69,029 N4,332
11 BI|HSHHSHE A ERAE A 64,697 69,029 N4,332
OXHMICH RIZMEEAIAE S E4=H|
60,078,030 60,079 64,411 N4,332




2A:
X XH -
o e

=aak

N2
REHE =5 (LLDTHT/LBIHT)
Rigthl4 =

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
403 XX SHHSK=01A 185 186 A
02 B 2SHICHEHAH=2 X L EFALS I 185 186 A1
OXAITE KIZMEEZAIAE 25 22
185,000& 185 186 A
405 XHAHE SHI 8,291 9,930 21,639
01 AL =S F=H| 8,291 9,930 21,639
O=ADI, LES, ZeH 72
8,290,090& 8,291 9,930 21,639
2| 124,973 169,022 A44,049
201 2E2 2,412 133,422 241,010
01 AFS2t2ltl 30,810 36,880 26,070
O&Xti=z &7 =2 5,530,000& 5,530 6,600 21,070
OXIZA MEgIXA JZ 4,000,000& 4,000 7,000 A3,000
O&FJIZ & MM R &= M
1,800,000& 1,800 2,800 A1,000
OSHI(XIZM X H=x)
1,000,000& 1,000 2,000 21,000
02 E324Hl 61,602 96,542 A34,940
O=Z=1XAM &5 RERS
34,260,0002 34,260 65,000 A30,740
ONMEA SESALF MEUHLD & AdFSAK
N gE 1,500,000& 1,500 2,500 A1,000
oxzgssU & IFFXH
1,000,000& 1,000 4,200 23,200
405 XHAHE SHI 15,561 18,600 23,039
01 AL = SF = 15,561 18,600 A3,039
A SEAN HSE IIIAAE &
15,561,000 15,561 18,600 A3,039
IHE =EDA T AL 188,806 202,166 A 13,360
= 90,974 90,974 0
Al 97,832 11,192 A 13,360
101 @124H| 29,000 30,000 A1,000
= 10,000 10,000 0
Al 19,000 20,000 21,000
04 JIRHH2Z2AEE 29,000 30,000 21,000
OIS =EItA 2I1H| &
29,000,000 29,000 30,000 A1,000
= 10,000 10,000 0
Al 19,000 20,000 21,000
201 ZeH22 ] 158,306 170,666 A 12,360
= 79,474 79,474 0
Al 78,832 91,192 A 12,360
01 AFS2teltl 153,256 163,616 210,360
OHEFEIIA HESe2
133, 150,600 133,151 140,936 AT7,785




2A:
X XH -
o e

=aak

N2
REHE =5 (LLDTHT/LBIHT)
Rigthl4 =

SA -3 - A(3) - MISA - B85 Off &K N3 HnsZ
= 66,474 66,474 0
Al 66,677 74,462 AT,785
OpEAE ZRERN YL ARE 7Y
12,936, 4002 12,937 15,512 ~2,575
2 8,582 8,58 0
Al 4,35 6,930 ~2,575
2 2229 5,050 7,050 2,000
oxeREN U S 1,750, 0002 1,750 3,750 2,000
= 250 250 0
Al 1,500 3,500 A2,000
Mool 28 81,122 9,259 A15,137
Mozl 48,516 49,619 A1,103
201 LBr2SY| 9,279 10,310 A1,081
01 AR 22lt] 9,279 10,310 A1,081
0ZI| A2E 7g 5,100, 0002 5,100 5,600 A500
ODXANEUS TREHEY 2
969, 0002 969 1,500 531
406 KHaHE St 3,928 4,000 AT2
01 RHIUSEHSY| 3,928 4,000 AT2
OX=sIEI| 7Y 3,927,820& 3,928 4,000 AT2
Mol Hdae) 3,606 46,640 A 14,034
201 LBr2SY) 29,606 43,640 A14,034
01 AR 22lt] 15,606 17,340 A1,734
OHXNIB 27 442 6,000, 0002 6,000 7,000 A1,000
OMI2l22l DXIM R 5,266, 0002 5,266 6,000 AT34
2 2229 14,000 26,300 A12,300
OHLDIN DSBS 9,200, 0002 9,200 21,500 A12,300
HRES (MDD (LS BBHT/ LSS - WIA) 12,739,000 9,939,000 2,800,000
BRSNS 12,739,000 9,939,000 2,800,000
SHNE 12,739,000 9,939,000 2,800,000
802 BHEr20IE} 12,739,000 9,939,000 2,800,000
01 2D2X2ED 8,350,000 6,350,000 2,000,000
CEMEERILE 8,350,000,0002 8,350,000 6,350,000 2,000,000
@ Al- SHISESEHES 4,389,000 3,589,000 800,000
CIELEERILE 4,389,000,00024 4,389,000 3,589,000 800,000
=222 (M2 (OIEHIIEH 43,124 50,260 AT 136
o=l 43,124 50,260 AT 136
I 43,124 50,260 AT,136
201 LBr2SY| 6,750 9,000 £2,250
01 AR 22lt] 6,750 9,000 £2,250
O=AEX, EL ARSE 7Y
6,750, 0002 6,750 9,000 £2,250
202 018 3,000 36,400 4,400




2A: H2D
M HE22AH|(H2D) (OIEHIIE
ool D=2

SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A
01 2UHo4 32,000 36,400
OZU=Z 0 32,000,000& 32,000 36,400
203 R =& 4,374 4,860
M FA2HHRFAHI 4,374 4,860
ORN2IYRFE 364,500+ 12¢ 4,374 4,860






